
N = 1405
1405 circles in a circle

radius =   0.024919422563
ratio  =  40.129340777154

density  = 0.872473557326
contacts = 2905

 E.SPECHT
29-APR-2014

N = 1406
1406 circles in a circle

radius =   0.024904066112
ratio  =  40.154085501077

density  = 0.872018787554
contacts = 3553

 E.SPECHT
30-APR-2014

N = 1407
1407 circles in a circle

radius =   0.024892240398
ratio  =  40.173161756219

density  = 0.871810450297
contacts = 3357

 E.SPECHT
30-APR-2014

N = 1408
1408 circles in a circle

radius =   0.024890250508
ratio  =  40.176373463796

density  = 0.872290595025
contacts = 3173

 E.SPECHT
30-APR-2014

N = 1409
1409 circles in a circle

radius =   0.024881054299
ratio  =  40.191222927120

density  = 0.872265210021
contacts = 2674

 E.SPECHT
01-MAY-2014

N = 1410
1410 circles in a circle

radius =   0.024873704479
ratio  =  40.203098852408

density  = 0.872368656066
contacts = 3390

 E.SPECHT
01-MAY-2014

N = 1411
1411 circles in a circle

radius =   0.024874449670
ratio  =  40.201894444856

density  = 0.873039665637
contacts = 2664

 E.SPECHT
01-MAY-2014

N = 1412
1412 circles in a circle

radius =   0.024870665921
ratio  =  40.208010641784

density  = 0.873392632941
contacts = 2811

 E.SPECHT
02-MAY-2014

N = 1413
1413 circles in a circle

radius =   0.024849448410
ratio  =  40.242341941943

density  = 0.872520556944
contacts = 2860

 E.SPECHT
02-MAY-2014

N = 1414
1414 circles in a circle

radius =   0.024844057672
ratio  =  40.251073846315

density  = 0.872759263080
contacts = 2766

 E.SPECHT
02-MAY-2014

N = 1415
1415 circles in a circle

radius =   0.024839465629
ratio  =  40.258515015710

density  = 0.873053659606
contacts = 3522

 E.SPECHT
03-MAY-2014

N = 1416
1416 circles in a circle

radius =   0.024830948060
ratio  =  40.272324583364

density  = 0.873071589913
contacts = 2675

 E.SPECHT
03-MAY-2014


